y'(t)+2y(t) =e’ y(0)=3 y()=0

2y eym=elet (D LL{Y (M} = :E{y(t)} LL2y(t)3=2L4y(t)}

a1
Lle')= s+1 . )
(1) G LYOH2LYMI=—7 (2
i{%y(t)}:sv-yw) Y=y (1)
s+l s%+3s+2

i 3Bs+4 \_ 2 1

partlal_fract_decompose( SZ+35+2) =542 + il

1 1 1
Lyy(H)}= @ Tor1 LTHLLYON=L {s+2 s+l } Y=L { s+2+s+1}

-1 2 1 )1_ 2t
L {s+2+s+l}_e +2e

y(H)=e+2e™

(0 = 2243 (acosmc+bysimg &= [ f(hcos(kydt by = ["i(hsin(ki)

2
[ FourierExpansion ( f,x,n) f(x) =x
var a"i’C’SF;Sl FourierExpansion( f,"x",10 )=+2.0000sinx-1.00002sin2x
™Y f o) +0.66674sin3x-0.50018sin4x+0.40036sin5x-0.33397sin6x
{s =0 |c|<10®  +0.28676sin7x-0.25161sin8x+0.22460sin9x-0.20339sin10x
S="« C» "

T(fork=1tonstepl)
a:ifpf(t)cos(kt)dt
PJp

b:ijpf(t)sin(kt)dt
P

S1="« X» " k=1

{S ="« kv « X " |

S=Ss+"« a» COS« Sl» " a<0 -4 -2 2 4
{S S+"+« a» CcoS« Sl» " a>0 sl

s=s+"« b» sin« sl» " b<0

{S =S +"+« b» sin« sl» " b>0 4l

return |s|



